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Instruction: Give the answer any three from follows four questions.

Q-1 State the importance and limitations of Statistics. 14
OR
Q-1A(1) Find the mean of follows information. 7
20, 30, 41, 52. 57, 59, 61, 62. 65, 67, 71, 75,
Q-1A(ii) Find the geometric mean and harmonic mean of 2, 4, 8. 7
Q-2 The number of Childs of families in a village is follows. Find Skewness and 14
coefficient of Skewness using Bowley’s method.
Number of Childs 1 [ 2 3 4 5 6 4
Number of families | 30 | 30 20 5 3 2
OR
Q-2 A(i) Explain the range and mean deviation as measures of dispersion. 7
Q-2 A(ii) Explain the quartile deviation and standard deviation as measures of 7
dispersion
Q-3 Give the meaning of mathematical economics and state its limitations. 14
OR
Q-3 A(i) Find the solution of the quadratic equation —3x2 + 9x — 6 = 0 using the 7
formula.
Q-3 A(ii) Find the solution of the follows simultaneous equation. 7
2x+y=8
3x+y=10
Q-4 Explain the revenue function, cost function, production function and profit 14
function.
OR
Q-4 A() State the types of functions. 7
Q-4A (ii) Explain the concept of natural numbers and integers numbers with example. 7
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